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Which one is not correct for a vector A=2i+2]
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(b) has magnitude 2 X . (V- 4
(c) has magnitude 2 and direction 0=45° with y-axis ( 5 *‘LX ) ﬁ: @\ _y

has magnitude —2
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The cross product of two vectors is zero wnen

(2) they are parallel vectors (b)they are anti parallel vectors
(c) they are perpendicular vector both aand b are correct -
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A force ¥ is applied 1o 2 beam at & distance “d” from pivot. The force at an ‘
e perpendicular to the beam.
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Iks from A to C, C to D and D to B (as shown in figure). The magnitude of
n walks from ‘
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For a body to be in equilibrium under the combined action of several forces:
(a) all the forces must be applied at the same point X ] —

(b) all of the forces form pairs of equal and opposite forces X
(c) any two of these forces must be balanced by a third force A

@thc sum of the components of all the forces in any direction must equal zero /

=% =o=é_;‘:\tg

Qs

Torque acting on a boay determines
(a) acceleration x

(c)angular acceleration

—
(b) linear acceleration X

(d) direction of motion of the body
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A force of 10N is acting along y-axis. Its component along x-axis is
zero J - (b) 1(;::
(c) 100N (d)5
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